
Quiz 11/12 

Name: __________________________ 

1. At what temperature is the rms speed of a Hydrogen molecule equal to 2200 m/s?  H2 mass is 3.34 x 

10-27 kg 

 

 

 

 

 

 

 

2. A 5 kg block of ice is initially at -65 oC and then combined with 1 kg of boiling water.  What is the final 

temperature of the system, what is the final mass of ice, what is the final mass of water? cwater = 4,186 

J/kgK, cice =2,090 J/kgK, csteam =2,010 J/kgK, Lf=3.33 x 105 J/Kg, Lv = 2.26 x 106 J/kg 
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Kavg = 3/2 kBT   Eth =  3/2 NkBT   vrms =  
    

 
  kB= 1.38 x 10-23 J/K 

L= LiT  V= ViT 

Q = McT  Q =+/- MLf  Q =+/- MLv 

 


